
Assignment II
Use the delphin tool
(https://delph-in.github.io/delphin-viz/demo/) to analyse the
following sentences. If you think the tool provides correct semantic
analysis, then you should provide a corresponding semantic derivation
analysis. Otherwise, you should explain why you think the automatic
analysis is wrong.
• London Tube drivers to strike over pay
• We don’t want to go on strike
• Aslef is seeking a pay agreement with London Underground.
• No trade union can accept any pay proposal
• about 10,000 of its members were involved in the dispute.
• The cost of living is always important to our finances.
• the rise is likely to be £10.50 to £628 a month
• Someone receiving attendance allowance will see an increase of about

£1.85 a week in April.
• Why the benefit rise could have been higher
• Many people face higher monthly repayments
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